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BO i Sim ‘ 1 : 1,7 0,07 135 | -2 1 0,6 25 40
F 109 Phi ‘ 1 . ] 1,05 [ 90 —10 5,5 1.1 8,3 7,6
26 amer 2 1,5 1,05 |180 —14,5 6,2 1,15 8,3 7.3
264 C) ‘ WE } 2 1,5 0,3 100 — 8 2.1 0,58 7.2 12,4
1) vide *4
Equivalents
T
DY 1210 Mul = BO E R 88 Dar = BO 264 E WE = 264C
F 109 A Phl = 26 { RV 222 TIf = BO 326 amer = 26
FP 58 amer = 26 1T 26 amer = 26 426 amer = 26
G 26 amer = 26 ! 126 amer = 26 2260 amer = 26
KL 70401 Kgf = BO | 226 amer = 26 4264 A STCE = 264C
LX 2260 Tu = 26 264 A WE = 264 C| 70401 Kgf = BO
M 26 amer = 26 ‘ 264 B WE = 264C | 38026 amer = 26
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